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Question 5
(a) The average rate of change of f on the interval 0 < x < 7 is 1 : answer
f(z) - f(0) _—e 1
-0 r
(b) f'(x)=e"cosx—e'sinx 2'{1:f'(x)
f,(3_”) - e3”/2cos(3—”) _ e3”/2sin(3—”) _ A2 1 : slope
2 2 2
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The slope of the line tangent to the graph of f at x = > 1s e~
) f'(x)=0 = cosx—sinx=0= x:%,x:%[ l:sets f'(x)=0
1 : identifies x = E, x = 7
x f(X) 3: 4 4
as candidates
0 ! 1 : answer with justification
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The absolute minimum value of fon 0 < x < 27 is —%eS”/“.
@ xgr;?/zf(x) =0 1: g is continuous at x = %
B i< differentiabl ) . 3 - and limits equal 0
ecause g is di eﬁren iable, g is continuous. 1 - applies L*Hospital's Rule
xli)r;}zg(x) = g(i) =0 1 : answer
By L’Hospital’s Rule, Note: max 1/3 [1-0-0] if no limit
. f(x) . (%) "2 notation attached to a ratio of
x_1m/2 g (x) = x—1>r7?/2 ¢'(x) =75 derivatives
© 2018 The College Board.

Visit the College Board on the Web: www.collegeboard.org.



